@%ﬁwgngoﬁﬁgjifﬁ :
B VICTOR &M 2008850)
TN RERABEWA  BHG ABEURRE A

e e e e et ———

[ 3

# it

96~90F ;1 B8 5¥ iR




@iz m292-90%: S

¢




((%%fﬁ%%%fﬁﬂ))
Cr. BitBemumnn

& - fLEMIEDL

HHRE * BRSEBERRAF

B 5 - 1583406 TS S HLHEBIRAF
T 5 (02)2381-5766

8 E:(02)2388-0876

8 HE - www.get.com.tw

E-mail : publish@mail.get.com.tw

2007 FFE11H iR

7 e i L b g 38 B RO R AR S 55 483355k
EEEES50T

EPiegE - BRI 3
SIN BN 978-957-814-750-8



H| |5

AERERR
"EIHE RHEY
"EHE L RFAHERM

il

WSEARE (FHAT)
96$$§+§§KE‘EEE¥% ...................................................................... 96-]
95&%%‘%%&%E§$ﬂﬂ ...................................................................... 95-
94$%§+$§ﬁ%%§fﬁ{ﬂ ...................................................................... 94-]
93@‘%%&%%%%%%%@ ...................................................................... 93-/

WEERS (FHAT)
QO TS S B oo 96-18
95@%§+§%§i§@%§¥ﬁ¥ .................................................................... 95-13
94$%§+%§ﬁ%§§¥@§ .................................................................... 94-13
93$$§+§§K§Egg$ﬁig .................................................................... 93-/19

WARINKE (BHFT)
96@%%1’%%&%@%% .................................................................... 96-4(
95{}:%%+%1§ﬁ%%§¥f@€ .................................................................... 95-3/
944£%§*%1§K5!E%§$% .................................................................... 94-27
OIEETESFEBSREHEEIEMR ..o rvovusssrssssssansenssasssusassnsssassussesasssbesonsasasss 93-35

WEdtRB (&HAT)
96@%51’%%35{@%%“@’ .................................................................... 96-53
951T%§Jr%i‘ﬁi&%ﬁ§§$f‘ﬂ .................................................................... 95-46
94515%%‘1‘%?1{:5@%&;1‘;% .................................................................... 94-46




93i¥{%§+£§§ﬁ;}g%§f_ﬁ}*{ .................................................................... 93-52

WHEAR (@HF)
9351:%51—%%&%%5:{:% .................................................................... 93-66
WZOTRE (&HAT)
95@;%; %gﬁ%%ﬂ% .................................................................... 95-62
94¢%§+§§R§Egg¥_m .................................................................... 94-59
93 ﬁ%g—f%gﬂgﬁ%g}r‘% .................................................................... 93-76

WMELETEE AR (&HAT)
PP i ETL o B ——— 94-67
93{#;%5{-5%}%\1@%?4’:% .................................................................... 03-84

WTEAR (FHAT)

QG TS PEBER T BRI ovovvososvsrseseomsossrsssmsossssensammsssnasiassssssssisasssass 96-64
DRTrat et Tyl - R — 95-69
QU B B SREEBEREE -rverserressessssssssassanssssoasssssssasssassssassssssassasass 94-81

W2 ERE (&hAT)
QGAEEEFEBZATE T o cvvvvrronsssoresssssssmissmen s s saasarens 96-74
95{ﬁ%5+%§§ﬁ5’§§§¥% .................................................................... 95-80

BREAS (FHAT)

96@%31’%%}2%E§¥% .................................................................... 96-9]
95@%51‘%5{:&5%%&@ .................................................................... 95-92
9454:%5-’-%{.%&%%5}?‘% .................................................................... 94-87

&athihE

YTz R PR e —— 9%-108
L N O PSP W 95- 104
QALEBEHENIUNE « s ot 5svais i 5858 g S99 4 Frsmemiams i 94-10]
OREESARERPEME voonsswsusmansasssossivasssisesuisosiisimissssnss ahestonisesiissussonssss 93-97



St il -

94@%—&*@@%3&%%5¥% ...................................................... 94-112
93@*@@%5&%%%1’5% .................................................................. 93-711

M E MRS E RS

QGLESARFBBZRMR ovosvsvisvsssssrisasasmasssssasinssssisssnssinnisiossssnsinsssinsssnsasoses 96-119
95511;&5@%%1’—@{{ ............................................................................. 95-117
QAAESABEBERERE (ovcvvosscssisnnssvssusamssionsasinasssssisisssassssrmnsassavinsissssessos 94-116
93 "L.:,fCEEEéiTﬁH’ ............................................................................. 93-120



FT R 96-1

96-

B A SR LB RKE

— ~ E4FA (60%)

1. A typical objective of an operational audit is to:

(A)determine whether the financial statements fairly present the entity’s
operations

(Bevaluate the feasibility of attaining the entity’s operational objectives

(C)make recommendations for improving performance

(Dreport on the entity’s relative success in attaining profit maximization.

2.To operate effectively, an internal auditor must be independent of:

(Athe line functions of the organizations

(B)ithe entity

(Othe employer-employee relationship which exists for other employees
in the organization

(D)all of the above.

3. When audit orocedures have been completed for an attributes sampling
application, the auditor must generalize from the sample to the population.
Which of the following statements would be incorrect regarding this
process?

(AThe auditor would use an attributes sampling table to determine the
computed upper exception rate

(B'The computed upper exception rate is the highest exception rate at a
given ARACR

(OIt would be wrong for the auditor to conclude that the population

exception rate is exactly the same as the sample exception rate
(D)In selecting the table corresponding to the risk of overreliance, it should
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be the same as the ARACR used for determining the initial sample size.

4. What is an auditor’s evaluation of a statistical sample for attributes when a
test of 100 documents results in four exceptions if the tolerable exception
rate is 5%, the expected population exception rate is 3%, and the

allowance for sampling risk is 2%?

(A)Accept the sample results as support for planned reliance on the control
because the tolerable rate less the allowance for sampling risk equals
the expected population exception rate

(BModify planned reliance on the control because the sample exception
rate plus the allowance for sampling risk exceeds the tolerable rate

(C)Modify planned reliance on the control because the tolerable rate plus
the allowance for sampling risk exceeds the expected population
exception rate

(D)Accept the sample results as support for planned reliance on the control
because the sample deviation rate plus the allowance for sampling risk
exceeds the tolerable rate.

5. When auditing a computerized system, an auditor may use the test data
approach as an audit tool. This technique:

(A)is more applicable to independent audits than internal audits

(Biinvolves introducing simulated transactions into the client’s actual
application program(s)

(C)is a commonly used audit technique for auditing around the computer

(D)should not involve the actual application programs the client uses
throughout the year, since use of the actual programs would
contaminate the client’s accounting data.

6. Which of the following is not an application control?

(A)Preprocessing authorization of sales transactions

(B)IReasonableness test for unit selling price of sale

(C)Post-processing review of sales transactions by the sales department

(D)Separation of duties between computer programmer and operators.
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7. inquiry is used when the auditor seeks responses from the
interviewee about his or her knowledge of an event or circumstance.
(A)assessment (B)declarative
(C)interrogative (Dinformational.

8. Which of the following is a factor that relates to attitudes or rationalization
to commit fraudulent financial reporting?

(A)Significant accounting estimates involving subjective judgments

(B)Excessive pressure for management to meet debt repayment
requirements

(C)Management’s practice of making overly aggressive forecasts

(DHigh turnover of accounting, internal audit and information technology
staff.

9.For several years, a client’s physical inventory count has been lower than
what was shown on the books at the time of the count so that downward
adjustments to the inventory account were required. Contributing to the
inventory problem could be weaknesses in internal control that led to the
failure to adjust the accounting records for some:

(A)purchases returned to vendors  (B)sales returns received
(C)sales discounts allowed (D)cash purchases.

10.Which of the following errors would be least likely to be discovered

during the tests of the bank reconciliation?

(A)Payment to an employee for more hours than he worked

(B)Cash received by the client subsequent to the balance sheet date was
recorded as cash receipts in the current year

(C)The existence of payments on notes payable that were debited directly
to the bank balance by the bank but were not entered in the client’s
records

(D)Deposits recorded in the cash receipts records near the end of the year,
deposited in the bank, and included in the bank reconciliation as a
deposit in transit.
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11.Which of the following factors is most important concerning an auditor’s
responsibility to detect errors and irregularities?
(A)The susceptibility of the accounting records to intentional manipula-
tions, alterations, and the misapplication of accounting principles
(B'The probability that unreasonable accounting estimates result from
unintentional bias or intentional attempts to misstate the financial
statements
(C)The possibility that management fraud, defalcations, and the
misappropriation of assets may indicate the existence of illegal acts
(D)The risk that mistakes, falsifications, and omissions may cause the
financial statements to contain material misstatements.
12.In testing for cutoff, the objective is to determine:
(Awhether all of the current period’s transactions are recorded
(Biwhether transactions are recorded in the proper period
(C)that no transactions of the current period have been delayed and
recorded in a future period
(Dithat no transactions from the prior period are included in the current
period’s balances.
13.The detail tie-in objective is not concerned that the details in the account
balance:
(A)agree with related subsidiary ledger amounts
(Blare properly disclosed, in accordance with GAAP
(Ofoot to the total in the account balance
(D)agree with the total in the general ledger.
14.Generally Accepted Auditing Standards (GAAS) and Statements on
Auditing Standards (SAS) should be looked upon by practitioners as:
(Aideals to work towards, but which are not achievable
(Bmaximum standards which denote excellent work
(C)minimum standards of performance which must be achieved on each

audit engagement
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(D)benchmarks to be used on all audits, reviews, and compilations.

15. The provisions of the Sarbanes-Oxley Act apply to which of the
following?
(A)All companies in the United States  (B)Private companies only
(C)Private and public partnerships only (D)Public companies only.

16. The General Standards stress the importance of:
(A)evidence accumulation
(B)personal qualities the auditor should possess
(C)communicating the auditor’s findings to the reader
(Djall of the above.

17.An auditor who issues a qualified opinion because of an insufficiency of
evidential matter should describe the limitations in an explanatory
paragraph. The auditor should also refer to the limitation in the:

Scope Opinion Notes to the
Paragraph paragraph financial statements
(A) Yes No Yes
(B) Yes Yes No
©) No Yes No
(D) Yes Yes Yes.

18 Which of the following would be the best protection for a company that

wishes to prevent the “lapping” of trade accounts receivable?

(A)Segregate duties so that the bookkeeper in charge of the general ledger
has no access to incoming mail

(B)Segregate duties so that no employee has access to both checks from
customers and currency from daily cash receipts

(C)Have customers send payments directly to the company’s depository
bank

(DRequest that customer’s payment checks be made payable to the

company and addressed to the treasurer.



96-6 HEEGEE

19.In what order should the following steps occur?
A.Assess client business risk.

B. Understand the client’s business and industry.
C.Perform preliminary analytical procedures.
D. Assess risk of material misstatements.
(AD,B,C, A

(BB, A,D, C

B, D, A, C

(DD, C, B, A.

20. Evidence obtained directly by the auditor is more competent than
information obtained indirectly. Which of the following is not an example
of the auditor’s direct knowledge?

(A)Physical examination (B)Observation
(C)Computation (DInquiry.

»* Compare details of a particular account’s balance with the preceding year.

21.Shortcomings of these two procedures are that:

(A)the first ignores relationships of data to other data and the second fails
to consider growth or decline in business activity

(B)the first fails to consider growth or decline in business activity and the
second ignores relationships of data to other data

(C)both fail to consider growth or decline in business activity and ignore
relationships of data

(Dt is difficult, time consuming, and, therefore, costly to perform these
procedures.

22When discussing acceptable audit risk (AAR) and the audit risk model,
which of the following statements is true?

(A)The terms audit assurance, overall assurance, or level of assurance are
synonyms for AAR

(BIAAR is objectively determined by the auditor

(C)AAR is the risk that the auditor is willing to take that the financial
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statements are fairly stated after the audit is completed and an
unqualified opinion has been reached

(D)When the auditor decides on a lower acceptable audit risk, it means the
auditor wants to be more certain that the financial statements are not
materially misstated.

23 Research in auditing has shown that if a revised risk is used in the audit
risk model to determine a revised planned detection risk, there is a danger
of:

(A)not decreasing the evidence sufficiently

(Bnot increasing the evidence sufficiently

(Clover-auditing

(D)increased lawsuits against the auditor for failure to follow GAAS.

24 The primary emphasis by auditors is on controls over a classes of

transactions:

(A)classes of transactions

(Blaccount balances

(Cboth (A) and (B), because they are equally important
(Diboth (A) and (B), because they vary from client to client.

25An internal control narrative indicates that an approved voucher is
required to support every check request for payment of merchandise.
Which of the following procedures provides the greatest assurance that
this control is operating effectively?

(A)Select and examine canceled checks and ascertain that the related
vouchers are dated no later than the checks

(B)Select and examine vouchers and ascertain that the related canceled
checks are dated no earlier than the vouchers

(C)Select and examine canceled checks and ascertain that the related
vouchers are dated no earlier than the checks

(D)Select and examine vouchers and ascertain that the related canceled

checks are dated no later than the vouchers.
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